This form 4 (B) will be updated every two years (June 2020) and posted on the JCC website.

Form 4 (B) Jarvis Christian College-Baccalaureate Social Work Program Assessment of Student Learning Outcomes

Last Completed on May 21, 2018

COMPETENCY	COMPETENCY BENCHMARK PERCENTAGE OF STUDENTS ACHIEVING BENCHMARK							
		Program Option #1 (Identify campus/delivery method)	Program Option #2 (Identify campus/delivery method)	Program Option #3 (Identify campus/delivery method)	Aggregate of All Program Options			
Competency I: Demonstrate Ethical and Professional Behavior	80%	100%	N/A	N/A	100%			
Competency 2: Engage Diversity and Difference in Practice	80%	100%	N/A	N/A	100%			
Competency 3: Advance Human Rights and Social, Economic, and Environmental Justice	80%	75%	N/A	N/A	75%			
Competency 4: Engage in	80%	87%	N/A	N/A	87%			

Practice- informed Research and Research- informed Practice					
Competency 5: Engage in Policy Practice	80%	48%	N/A	N/A	48%
Competency # 6: Engage with Individuals, Families, Groups, Organizations, and Communities	80%	100 %	N/A	N/A	100%
Competency 7: Assess Individuals, Families, Groups, Organizations, and Communities	80%	100%	N/A	N/A	100%
Competency 8: Intervene with Individuals, F Families, Groups, Organizations,	80%	100%	N/A	N/A	100%

and Communities					
Competency 9: Evaluate Practice with Individuals, Families, Groups, Organizations, and Communities	80%	100%	N/A	N/A	100%
Any Additional Competency (ie s) Developed by the Program	N/A	N/A	N/A	N/A	N/A

Jarvis Christian College BACCALAUREATE SOCIAL WORK PROGRAM ASSESSMENT OF STUDENT LEARNING OUTCOMES

LAST COMPLETED ON May 21, 2018

Competency			Percentage of students attaining the benchmark of each measure			Percentage of students achieving competency		Competency attainment		
	Competency Benchmark	Outcome Measure Benchmark	Campus Measure #1	Campus Measure #2	Combined	Calculations Measure #1+ Measure #2	Combined	Measure #1	Measure #2	Combined
1: Demonstrate Ethical and Professional Behavior	80%	Measure # 1 and Measure #2 student must have a minimum score of 4 out of 5	100%	100%	100%	100+100=200/2=100	100%	YES	YES	YES
2: Engage Diversity and Difference in Practice	80%	Measure # 1 and Measure #2 student must have a minimum score of 4 out of 5	100%	100%	100%	100+100=200/2=100	100%	YES	YES	YES
3. Advance Human Rights and Social, Economic, and Environmental Justice	80%	Measure # 1 and Measure #2	50%	100%	75%	50+100= 150/2= 75%	75%	NO	YES	NO

		the student must have a minimum score of 4 out of 5								
4. Engage in Practice-Informed Research and Research Informed Practice	80%	# 1 and Measure #2 student must have a minimum score of 4 out of 5	100%	75%	87.5	100+75= 175/2= 87.5%	87.5%	YES	NO	YES
5. Engage in Policy Practice	80%	Measure # 1 and Measure #2 student must have a minimum score of 4 out of 5	25%	75%	50%	25+75=100/2=50	50%	NO	NO	NO
6: Engage with Individuals, Families, Groups, Organizations, and Communities		Measure # 1 and Measure #2 student must have a minimum score of 4 out of 5	100%	100%	100%	100+100=200/2=100	100	YES	YES	YES
7: Assess Individuals, Families, Groups, Organizations, and Communities	80%	Measure # 1 and Measure #2 the student must have a minimum score of 4 out of 5	100%	100%	100%	100+100=200/2=100	100	YES	YES	YES
8: Intervene with Individuals, Families, Groups, Organizations, and Communities	80%	Measure #1 and Measure #2	100%	100%	100%	100+100=200/2=100	100	YES	YES	YES

		student must have a minimum score of 4 out of 5								
9: Evaluate Practice with Individuals, Families, Groups, Organizations, and Communities	80%	# 1 and Measure #2 student must have a minimum score of 4 out of 5	100%	100%	100%	100+100=200/2=100	100	YES	YES	YES